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Answer ALL questions. Write your answers in the spaces provided.

You will need to use the data on pages 2 and 3 of the Resource Booklet to answer parts
(a) and (b).

1 (a) Calculate the value of the closing inventory.
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Kamilco Ltd
Statement of profit or loss for the year ended 30 September 2020

(Total for Question 1 = 22 marks)
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You will need to use the data on page 4 of the Resource Booklet to answer part (a).

2 (a) Complete the adjustment columns of the extended trial balance extract at
31 October 2020.

(11)
Maria
Extended trial balance extract at 31 October 2020
Balance Adjustment
Debit Credit

$ $ $
Advertising 3420
Allowance for doubtful debts 1570
Bank 3240Cr
Carriage inwards 895
Carriage outwards 1380
Insurance 2760
Purchases 102 100
Revenue 195 420
Trade payables 18430
Trade receivables 36 400

Allowance for doubtful debts adjustment

Closing inventory - statement of financial position

Closing inventory - statement of profit or loss

Other payables

Other receivables

Suspense
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5 (b) Explain, referring to an appropriate accounting concept, why a business may
s % make an allowance for doubtful debts.

(c) (i) Explain the importance of a statement of financial position to a potential
provider of finance.
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(i) State two other stakeholders and their interest in the statement of
financial position.
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(Total for Question 2 = 19 marks)
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You will need to use the data on pages 5 and 6 of the Resource Booklet to answer parts
(@), (c) and (d).

3 (a) Prepare the consolidated statement of profit or loss for the year ended
30 September 2020.

(9)

Aye plc
Consolidated statement of profit or loss for the year ended 30 September 2020

(ii) State where, in the consolidated statement of financial position, the
non-controlling interest appears.
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(c) Calculate, for Bee Ltd, for the year ended 30 September 2020:

(i) inventory turnover (correct to two decimal places)

(Total for Question 3 = 19 marks)
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You will need to use the data on page 7 of the Resource Booklet to answer parts (b), (c) Sssss Bt
and (d). KR!

4 (a) State one purpose of calculating the:

(i) breakeven point
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(b) Calculate for the current production the: 55

(i) breakeven point (units)
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(c) Prepare a marginal cost statement to show the annual profit or loss if the
expansion goes ahead.

(5)

Jordi
Annual marginal cost statement
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(e) Discuss whether or not Jordi should proceed with his expansion plans.

You must justify your decision.
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(Total for Question 4 = 21 marks)
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You will need to use the data on page 8 of the Resource Booklet to answer parts (b), S S
(c) and (d). 3950505
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(b) Calculate the amount paid to credit suppliers for each of the three months. S ;g_”f/,/._ %
\
January 2021 February 2021 March 2021 85
$ $ $ =
(c) Prepare the trade payables budget for the three-month period ending
31 March 2021.
(6)
Trade payables budget for the three-month period ending 31 March 2021
January February March
2021 2021 2021
$ $ $
Opening balance
Credit purchases
Payments
Discount received
Closing balance
\
12
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(d) Complete the cash budget for the three-month period ending 31 March 2021.

(8)
Farheen
Cash budget for the three-month period ending 31 March 2021
January February March
2021 2021 2021
$ $ $
Receipts
Credit sales 52 000 80 000 82 000
Cash sales 6 000 8 000 9 000
Total receipts
Payments
Cash purchases
Trade payables (credit purchases)
Wages
Bank interest
Drawings
Operating expenses 14 000 14 000 16 000
Total payments
Net inflow / outflow
Opening balance (2 200)

Closing balance

(Total for Question 5 = 19 marks)

TOTAL FOR PAPER = 100 MARKS
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